
Test 14 9) (-3)2 + (8 + 32) = 2A Unit Test II

1) 72 + 22 - 5 - 4 + 3X = 9 + (8 + 9) = 2A
1) ±6 14) -3(4) + 4(4) = 2·4 - (4)

9+17=2A -12+16=8-449 + 4 - 5 - 4 + 3X =
26=2A 2) ±R 4=444+3X
13=A

2) X + 32 + 4 - 22 = 3) ±8
15) JL=110) (-3)2 + (8 + 32) =2(13) 16 2X+32+ 4 -4 = 4) +1

X+8-4= 9+17=26 -5
16) 2-

X+4 26 = 26
5) 42 - 3(5 - 2) - 25 + 6 = 16

3) -Y - 5 + Y + 2(2Y - Y) - 3 = 11) -(8 x 8) = -64 16 - 3(3) - 25 + 6 =
17) 14 7

-Y - 5 + Y + 2(Y) - 3 = 12) 2 x 2 x 2 = 8 16 - 9 - 25 + 6 = -12 16=8
2Y - 8 13) -(4x4)=-16 6) 13 + 49 -i- 7 - 22 = 18) 122 + 162= H2

4) 5X - 3 - X - 3(X + 12) = 13 + 49+ 7 - 4 = 144 +256 = H214) 1x1x1x1x1=1
13+7-4=16 400 = H25X - 3 - X - 3(X+ 1) =

7 JL - 1.1£ = 6 40 - 111...= 5 28 = 5 Z.
20 yds. = H5X - 3 - X - 3X - 3 = 15)

7) (3 x 62 - 1) + 11 =X-6 32 32 32 32 32 8
(3 x 36 - 1) + 11 = 19) L2+92=152

5) 5(B + 3) = 4(B - 7) + 2B 16) 81.-2£=61. (108 - 1) + 11 = 118 L2+81 =2253 3 3
L2 = 144

5B + 15 = 4B - 28 + 2B
8) 3(20 - 42) + 2 x 3 =15 + 28 = 4B + 2B - 58 17) 10 JL - 6ll = 9 36 - 6li. = 311 = 31.

3(20 - 16) + 6 = L=12ft.43=8 27 27 27 27 27 9
3(4) + 6 = 12 + 6 = 18 1+1.=1x2.=.2.=33 1 6 4 2 1 20)6) 5((43) + 3) = 4((43) - 7) + 2(43) 18) 5--3-=5--3-=2-=2-

9) 3 + 10 - R + 6R = -3 + 9R + 5 - 5 262124. 2 8 8 8 45(46) = 4(36) + 2(43)
13+ 5R= -3 + 9R

21) z.+1.=z.x~=1.=11230=144+86 19) 3X - 9 = 6(6) + 4
16 = 4R 8 4 ~ 3 6 6230 = 230 3X-9=36+4
4=R

§.+§..=&X~=~=1£3X-9=9 22)7) 53 - 102 = X(8 - 2) + 2X - 3X
3X = 18 10) 3+10-(4)+6(4)=-3+9(4)+5-5 797.67753 - 102 = 8X - 2X + 2X - 3X
X=6 13 - 4 + 24 = -3 + 36 + 5 - 5

23) 3 30 +2 40 = 5 70 = 6 22 = 611125 - 100 = 8X - 2X + 2X - 3X
33=33 48 48 48 48 2425=5X 20) 72 -i- 4 = 18 -t

11) (-3)2+(F+32)=2·4+6 71.-11=6£
(!)5:::X 18 x 3 = 54 bought chocolate

24) (J)-72 - 54 = 18 didn't buy chocolate 9 + (F + 9) = 8 + 6 3 3 3
(f)8) 53 - 102 = (5)(8 - 2) + 2(5) - 3(5)

F=8+6-9-9
9...i. - 5 32 = 8 45 - 5 32 = 3 Jd. 0

25) c
125 - 100 = 5(6) + 10 - 15 F=-4 40 40 40 40 40 -125 - 100 = 30 + 10 - 15 o·12) (-3)2+((-4)+32)=2.4+6 26) 52+62=82 :::J25 =25

(J)9 + (-4 + 9) = 8 + 6 25 + 36 = 64 - .
-t14 = 14 61 1:- 64; no (!)
(J)13) -3X + 4X = 2 . 4 - X -27) 8N - 5 = 7N + 5 -"X=8-X 8N -7N =5+5 .j::>.

2X=8 N= 10 CX=4 :::J28) no ;:::;.:
-t
(!)
(J)-


